| have provided sufficient explanation in code. | will refrain from elaborating on
the screen messages...

TEST SCENARIO 1  (OLD CODE)

//THESE ARE ALL TEST 5 .SELECT OME ONLY!
fox jumps over the lazy dog";

st but making it a bit longer!";

lani. This is a sligthly longer test to see if the tex

Welcome to Online IDE!! Happy Coding :)

Your line getting bigger:The(3 chars inc white space)

Words after truncation: 1

Your line getting bigger:The-quick(9 chars inc white space)

Words after truncation: 2

Your line getting bigger:The-quick-brown(15 chars inc white space)
Words after truncation: 3

Your line getting bigger:The-quick-brown-fox(19 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):The-quick-brown

Length rolled back line: 15

This word getting truncated:fox

The current buffer is: 1

Number words to accomodate for: 3(The-quick-brown)

Last word in tokenizer should be same as truncated word: fox
What is wordcount here: 4

What is truncated word count: 3(The-quick-brown) 15 chars

The current buffer is: 1

The-quick-brown =>qualifies for 1 padding at front since it has:3 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:-The-quick-brown

This word will be carried over to next line:fox

Your line getting bigger:fox-jumps(9 chars inc white space)
Words after truncation: 2

Your line getting bigger:fox-jumps-over(14 chars inc white space)
Words after truncation: 3

Your line getting bigger:fox-jumps-over-the(18 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):fox:jumps-over

Length rolled back line: 14

This word getting truncated:the

The current buffer is: 2

Number words to accomodate for: 3(fox-jumps-over)

Last word in tokenizer should be same as truncated word: the
What is wordcount here: 7

What is truncated word count: 3(fox:jumps-over) 14 chars

The current buffer is: 2

CURRENT LENGTH of line: 14



Qualified for extra padding

1 extra padding between:fox-jumps-over

It will now process truncated string with extra 1 padding between the words:fox-jumps-over
Your line getting bigger:fox(3 chars inc white space)

Your line getting bigger:fox:-jumps(10 chars inc white space)

Your line getting bigger:fox:-jumps--over(16 chars inc white space)

NEW LENGTH of line after formatting: 16

Completed line:fox:-jumps:-over

This word will be carried over to next line:the

Your line getting bigger:the-lazy(8 chars inc white space)

Words after truncation: 2

Your line getting bigger:the-lazy-dog(12 chars inc white space)

Words after truncation: 3

Finally completed the last line:the:lazy-dog

Left over Stringloiner: 3 word(s)=> the-lazy-dog (12 chars inc white space)
Total running words: 9

Buffer is: 4

It will now process the string with extra: 2 padding between words:the-lazy-dog
your line getting bigger:the(3 chars inc white space will NOT exceed 16)

your line getting bigger:the--lazy(10 chars inc white space will NOT exceed 16)
your line getting bigger:the:-lazy---dog(16 chars inc white space will NOT exceed 16)
completed line:the:--lazy---dog

NEW LENGTH of line:16

**%XTH|S WILL PRINT ENTIRE TEXT** %4k kohk otk ek

*The-quick-brown
fox® “jumps”® “over

the®**lazy® ® "dog
3k 3k 3k 3k 3k sk 5k sk 5k 3k 3k 3k sk 5k %k 5k %k Sk 5k 3k 5k %k 3k %k sk 5k %k %k k

** Process exited - Return Code: 0 **

["the quick brown™, # 1 extra space on the left
"fox Jjumps over”, # 2 extra spaces distributed evenly

"the lazy dog"] # 4 extra spaces distributed evenly

N.B There is considered to be an error in the question given...
Placing 4 extra spaces between the words will give 18 characters including white spaces....

the....lazy....dog



TEST SCENARIO 2 AN EI\/IPTY STRING (OLD CODE)

//THESE ARE ALL TEST S+.0...5ELECT ONE

a test but maki

Amlani. This is a sligthly longer test to see if the text can be spanr

Welcome to Online IDE!! Happy Coding :)

Finally completed the last line:

Left over Stringloiner: 0 word(s)=> (O chars inc white space)
Total running words: 0

Buffer is: 16

completed line:

NEW LENGTH of line:0

**%XTH|S WILL PRINT ENTIRE TEXT** %4k kohk otk ek

%k 3k sk 3k %k >k 5k >k 5k 5k 3k 3k 3k 3k 3k ok 3k 3k %k %k %k %k %k %k %k %k k ok k

TEST SCENARIO 3 — A STRING WITH PADDING ALREADY
AT FRONT. UP TO THE COMMA IT IS EXACTLY LENGTH
OF K=16. IT SHOULD FIT EXACT UP TO HERE... (OLD
CODE)

Amlani. This is a sligthly longer test to see if the text can be span

Welcome to Online IDE!! Happy Coding :)

Your line getting bigger:This(4 chars inc white space)

Words after truncation: 1

Your line getting bigger:This-is(7 chars inc white space)

Words after truncation: 2

Your line getting bigger:This-is-a(9 chars inc white space)
Words after truncation: 3

Your line getting bigger:This-is-a-test,(15 chars inc white space)
Words after truncation: 4

Your line getting bigger:This-is-a-test,-but(19 chars inc white space)
Words after truncation: 5



Rolled back to(due to exceeding 16):This-is-a-test,

Length rolled back line: 15

This word getting truncated:but

The current buffer is: 1

Number words to accomodate for: 4(This-is-a-test,)

Last word in tokenizer should be same as truncated word: but
What is wordcount here: 5

What is truncated word count: 4(This-is-a-test,) 15 chars

The current buffer is: 1

This-is-a-test, =>qualifies for 1 padding at front since it has:4 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:-This-is-a-test,

This word will be carried over to next line:but

Your line getting bigger:but-making(10 chars inc white space)
Words after truncation: 2

Your line getting bigger:but-making:it(13 chars inc white space)
Words after truncation: 3

Your line getting bigger:but-making-it-a(15 chars inc white space)
Words after truncation: 4

Your line getting bigger:but-making-it-a-bit(19 chars inc white space)
Words after truncation: 5

Rolled back to(due to exceeding 16):but-making:-it-a

Length rolled back line: 15

This word getting truncated:bit

The current buffer is: 1

Number words to accomodate for: 4(but-making-it-a)

Last word in tokenizer should be same as truncated word: bit
What is wordcount here: 9

What is truncated word count: 4(but-making-it-a) 15 chars

The current buffer is: 1

but-making-it-a =>qualifies for 1 padding at front since it has:4 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:-but-making-it-a

This word will be carried over to next line:bit

Your line getting bigger:bit-longer!(11 chars inc white space)

Words after truncation: 2

Finally completed the last line:bit-longer!

Left over Stringloiner: 2 word(s)=> bit-longer! (11 chars inc white space)
Total running words: 10

Bufferis: 5

It will now process the string with extra: 5 padding between words:bit-longer!
your line getting bigger:bit(3 chars inc white space will NOT exceed 16)

your line getting bigger:bit----:-longer!(16 chars inc white space will NOT exceed 16)
completed line:bit:-----longer!

NEW LENGTH of line:16



**HFKTHIS WILL PRINT ENTIRE TEXT*%HHk okkkkokk &

[ ] . [ I [ ] [ ]
Th IS IS a teSt, it still maintains padding on left of first line as expected.

[ ] [ ] . [ [ ]
but ma k| ng |t d it has now incorporated frontal padding since longer than 1 word...
. o000 00

b|t |Onger| 3 characters + 6 padding + 7 characters = 16

%k 3k >k >k >k >k 5k >k 5k 3k 5k 5k 3k 3k ok 3k 3k ok sk sk %k %k %k %k k %k k k k%

** Process exited - Return Code: 0 **

TEST SCENARIO 4: 1 WORD

| HAD TO TWEAK THE CODE HERE, BUT IT INVOLVED AN
EXTRA IF LOOP, THIS WAS FORTUNATELY REALISED
DURING TESTING PHASE.... (OLD CODE)

HESE

Welcome to Online IDE!! Happy Coding :)

Your line getting bigger:My(2 chars inc white space)

Words after truncation: 1

Finally completed the last line:My

Left over Stringloiner: 1 word(s)=> My (2 chars inc white space)
Total running words: 1

Buffer is: 14

Entering here most likely due to having one or no words in the line
So the StringBuilder should be empty:

My =>qualifies for 14 padding at end since it has:1 word(s)
completed ling:My:----------

NEW LENGTH of line:16

**EATHIS WILL PRINT ENTIRE TEXTH 44k kokkok dox

M eeceecsecsccccsoe
y 14 padding at end



%k 3k 3k 3k 3k 3k 3k 3k 5k 5k 5k 5k 5k 3k 5k 3k 3k 3k 3k %k %k %k %k %k %k %k %k %k k

** Process exited - Return Code: 0 **

TEST SCENARIO 5: AN EXTRA LONG SENTENCE, BUT
ALSO TO SEE DISTINCTION BETWEEN THE PADDING AND
FULL STOP (OLD CODE)

to see if the text can be spanned across multiple lines.";

Welcome to Online IDE!! Happy Coding :)

Your line getting bigger:My(2 chars inc white space)

Words after truncation: 1

Your line getting bigger:My-name(7 chars inc white space)

Words after truncation: 2

Your line getting bigger:My-name-is(10 chars inc white space)
Words after truncation: 3

Your line getting bigger:My-name:-is-Amit(15 chars inc white space)
Words after truncation: 4

Your line getting bigger:My-name-is-Amit-Amlani.(23 chars inc white space)
Words after truncation: 5

Rolled back to(due to exceeding 16):My-name-is-Amit

Length rolled back line: 15

This word getting truncated:Amlani.

The current buffer is: 1

Number words to accomodate for: 4(My-name:-is-Amit)

Last word in tokenizer should be same as truncated word: Amlani.
What is wordcount here: 5

What is truncated word count: 4(My-name:-is-Amit) 15 chars

The current buffer is: 1

My-name-is-Amit =>qualifies for 1 padding at front since it has:4 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:-My-name-is-Amit

This word will be carried over to next line:Amlani.

Your line getting bigger:Amlani.-This(12 chars inc white space)
Words after truncation: 2

Your line getting bigger:Amlani.-This-is(15 chars inc white space)
Words after truncation: 3

Your line getting bigger:Amlani.-This-is-a(17 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):Amlani.-This-is

Length rolled back line: 15



This word getting truncated:a

The current buffer is: 1

Number words to accomodate for: 3(Amlani.-This:is)

Last word in tokenizer should be same as truncated word: a
What is wordcount here: 8

What is truncated word count: 3(Amlani.-This:is) 15 chars
The current buffer is: 1

Amlani.-This-is =>qualifies for 1 padding at front since it has:3 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:-Amlani.-This:-is

This word will be carried over to next line:a

Your line getting bigger:a-sligthly(10 chars inc white space)
Words after truncation: 2

Your line getting bigger:a-sligthly-longer(17 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):a-sligthly

Length rolled back line: 10

This word getting truncated:longer

The current buffer is: 6

Number words to accomodate for: 2(a-sligthly)

Last word in tokenizer should be same as truncated word: longer
What is wordcount here: 10

What is truncated word count: 2(a-sligthly) 10 chars

The current buffer is: 6

CURRENT LENGTH of line: 10

Qualified for extra padding

6 extra padding between:a-sligthly

It will now process truncated string with extra 6 padding between the words:a-sligthly
Your line getting bigger:a(1 chars inc white space)

Your line getting bigger:a:--- sligthly(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:a-«- sligthly

This word will be carried over to next line:longer

Your line getting bigger:longer-test(11 chars inc white space)
Words after truncation: 2

Your line getting bigger:longer-test-to(14 chars inc white space)
Words after truncation: 3

Your line getting bigger:longer-test-to-see(18 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):longer-test-to

Length rolled back line: 14

This word getting truncated:see

The current buffer is: 2

Number words to accomodate for: 3(longer-test-to)

Last word in tokenizer should be same as truncated word: see
What is wordcount here: 13

What is truncated word count: 3(longer-test-to) 14 chars

The current buffer is: 2

CURRENT LENGTH of line: 14

Qualified for extra padding

1 extra padding between:longer-test-to

It will now process truncated string with extra 1 padding between the words:longer-test-to
Your line getting bigger:longer(6 chars inc white space)

Your line getting bigger:longer:-test(12 chars inc white space)



Your line getting bigger:longer--test--to(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:longer--test:-to

This word will be carried over to next line:see

Your line getting bigger:see:if(6 chars inc white space)

Words after truncation: 2

Your line getting bigger:see-if-the(10 chars inc white space)
Words after truncation: 3

Your line getting bigger:see-if-the-text(15 chars inc white space)
Words after truncation: 4

Your line getting bigger:see-if-the-text-can(19 chars inc white space)
Words after truncation: 5

Rolled back to(due to exceeding 16):see-if-the-text

Length rolled back line: 15

This word getting truncated:can

The current buffer is: 1

Number words to accomodate for: 4(see-if-the-text)

Last word in tokenizer should be same as truncated word: can
What is wordcount here: 17

What is truncated word count: 4(see-if-the-text) 15 chars

The current buffer is: 1

see-if-the-text =>qualifies for 1 padding at front since it has:4 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:-see-if-the-text

This word will be carried over to next line:can

Your line getting bigger:can-be(6 chars inc white space)

Words after truncation: 2

Your line getting bigger:can-be:spanned(14 chars inc white space)
Words after truncation: 3

Your line getting bigger:can-be-spanned-across(21 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):can-be-spanned

Length rolled back line: 14

This word getting truncated:across

The current buffer is: 2

Number words to accomodate for: 3(can-be-spanned)

Last word in tokenizer should be same as truncated word: across
What is wordcount here: 20

What is truncated word count: 3(can-be:spanned) 14 chars

The current buffer is: 2

CURRENT LENGTH of line: 14

Qualified for extra padding

1 extra padding between:can-be:spanned

It will now process truncated string with extra 1 padding between the words:can-be-spanned
Your line getting bigger:can(3 chars inc white space)

Your line getting bigger:can--be(7 chars inc white space)

Your line getting bigger:can--be:-spanned(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:can--be--spanned

This word will be carried over to next line:across

Your line getting bigger:across-multiple(15 chars inc white space)
Words after truncation: 2
Your line getting bigger:across-multiple-lines.(22 chars inc white space)



Words after truncation: 3

Rolled back to(due to exceeding 16):across-multiple

Length rolled back line: 15

This word getting truncated:lines.

The current buffer is: 1

Number words to accomodate for: 2(across-multiple)

Last word in tokenizer should be same as truncated word: lines.
What is wordcount here: 22

What is truncated word count: 2(across-multiple) 15 chars

The current buffer is: 1

CURRENT LENGTH of line: 15

Qualified for extra padding

1 extra padding between:across-multiple

It will now process truncated string with extra 1 padding between the words:across-multiple
Your line getting bigger:across(6 chars inc white space)

Your line getting bigger:across--multiple(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:across--multiple

This word will be carried over to next line:lines.

Finally completed the last line:lines.

Left over Stringloiner: 1 word(s)=> lines. (6 chars inc white space)
Total running words: 22

Buffer is: 10

Entering here most likely due to having one or no words in the line
So the StringBuilder should be empty:

lines. =>qualifies for 10 padding at end since it has:1 word(s)
completed line:lines.:-+++«-:

NEW LENGTH of line:16

*HRXTHIS WILL PRINT ENTIRE TEXT* %k sk otk ok
*My*“name*is®Amit
¢ Amla ni. ¢ ThIS ¢ |S height of padding distinguishable to full stop

a sligthly
longer® “test* °"to
*see’if"the text

can*®“be* “spanned

across” “multiple



: o0 000000 O0COTC
I INnes. height of padding distinguishable to full stop

%k 3k 3k 3k 3k 3k 3k 3k 3k 5k 5k 5k 5k 3k 5k 3k 3k 3k 3k %k %k %k %k %k %k %k %k %k k

** Process exited - Return Code: 0 **

TEST SCENARIO 6: EXACTLY K CHARS AND WHITESPACE
(OLD CODE)

>E ARE ALL TEST

s a test, but making it a bit longer!™;

it Amlani. This is a sligthly

16 testing.”

Welcome to Online IDE!! Happy Coding :)

Your line getting bigger:This(4 chars inc white space)

Words after truncation: 1

Your line getting bigger:This-will(9 chars inc white space)

Words after truncation: 2

Your line getting bigger:This-will-be(12 chars inc white space)

Words after truncation: 3

Your line getting bigger:This-will-be-16.(16 chars inc white space)

Words after truncation: 4

Finally completed the last line:This-will-be-16.

Left over Stringloiner: 4 word(s)=> This-will-be-16. (16 chars inc white space)
Total running words: 4

Bufferis: 0

It will now process the string with extra: 0 padding between words:This-will-be-16.
your line getting bigger:This(4 chars inc white space will NOT exceed 16)

your line getting bigger:This-will(9 chars inc white space will NOT exceed 16)

your line getting bigger:This-will-be(12 chars inc white space will NOT exceed 16)
your line getting bigger:This-will-be-16.(16 chars inc white space will NOT exceed 16)
completed line:This-will-be-16.

NEW LENGTH of line:16

**EATHIS WILL PRINT ENTIRE TEXTH 44k kokokok dox

ThlS.Wlll. bE' 16. Remans exactly same
3k 3k 3k 3k 3k 3k 3k 3k 3k 3k >k sk 3k 3k sk 5k 3k 5k >k %k 5k 3k %k %k 3k 5k %k %k k

** process exited - Return Code: 0 **

TEST SCENARIO 7: FIRST LINE EXCEEDS K LIMIT (OLD
CODE)



SE ARE ALL

to see if the text can be spanned acr

Welcome to Online IDE!! Happy Coding :)

The following word exceeds line limit of k(16):
Thiswillbetesting

** Process exited - Return Code: 0 **

SEE ATTACHMENT

TEST SCENARIO 8: THIS WAS ONLY INTRODUCED SINCE
IT WAS REALISED A SCENARIO WAS NOT TESTED AS
SUCH... THE FIRST LINE WILL START WITH BLANK SPACES
AND THE WORDS WILL END PERFECTLY AT K
CONSTRAINT, BUT THE NEXT LINE ALSO HAS NATURAL
WHITESPACES IN THE STRING (OLD CODE)

ger:

e 1s Amit Amlani. This is a sligthly longer test to see if the text can be spanr
ill be !
Expecting second line to be section under orange

[ ————
but there should extreme amount on start second line";

There are 12 There are 3
spaces here || characters here

This is exactly k long (2 frontal whitespace,
4 chars, 1 whitespace, 5 chars, 1
whitespace and 3 chars)




UNFORTUNATELY THIS TIME, IT HAS FAILED SEVERELY!

*¥¥¥TH|S WILL PRINT ENTIRE TEXT***xxxxxxsssss
SO me-- bla n k' ‘NOWwW it has lost leading padding and hence kept padding inter words
but-there-should-extreme-extreme-amount-amount-on-

on-start-start-second-second-line ..ceremessiniine 2andiine 3
kksksksksksksksksksksksksksksksksksksksksksksksksksksksk

My initial logic tells me it is something related to having customized paddingTest
character... But it is totally unrelated...

It was later figured out...

It is quite upsetting that this test case was not explored....

This would be great chance to examine the screen outputs. | am hoping its not
too detrimental since it is quite upsetting to find this at end of code.

At first instance, the only possible way to sort this is to keeping running total of
characters (white space included) of the text (up to point of end of token
outputted).

Need to be careful since a token might be repeated multiple times, so how can
exact location be found without further errors?

Only possible if the text is stripped off at intervals of the token......

So the initial text has to be stored in a StringBuilder....

ALSO:

keep running total of the length of the tokens...

Anything in between (presumed to be whitespace) has to be placed back in as
natural padding...

This has to be done before additional padding since it will compromise k.....

MY CODE WAS INCREASINGLY LOOKING LIKE IT WILL TAKE LOTS
UNPRECEDENTED CHANGES...

Welcome to Online IDE!! Happy Coding :)

Your line getting bigger:Some(4 chars inc white space) it has failed straight away and lost frontal spaces.. This tells
me that it is related to the String Tokenizer.. Until now, my assumption was that delimiter is inter-words...

So need to find a technique to keep the blank spaces...

This would have to be done at start of each line......

Words after truncation: 1

Your line getting bigger:Some-blank(10 chars inc white space)

Words after truncation: 2

Your line getting bigger:Some-blank-now(14 chars inc white space)
Words after truncation: 3

Your line getting bigger:Some-blank-now-but(18 chars inc white space)



Words after truncation: 4

Rolled back to(due to exceeding 16):Some-blank-now

Length rolled back line: 14

This word getting truncated:but

The current buffer is: 2

Number words to accomodate for: 3(Some-blank-now)

Last word in tokenizer should be same as truncated word: but
What is wordcount here: 4

What is truncated word count: 3(Some-blank-now) 14 chars

The current buffer is: 2

CURRENT LENGTH of line: 14

Qualified for extra padding

1 extra padding between:Some-blank-now

It will now process truncated string with extra 1 padding between the words:Some-blank-now
Your line getting bigger:Some(4 chars inc white space)

Your line getting bigger:Some:-blank(11 chars inc white space)

Your line getting bigger:Some:-blank--now(16 chars inc white space)
NEW LENGTH of line after formatting: O

Completed line:Some:-blank:--now

This word will be carried over to next line:but

Your line getting bigger:but-there(9 chars inc white space)

Words after truncation: 2

Your line getting bigger:but-there-should(16 chars inc white space)

Words after truncation: 3

Your line getting bigger:but-there-should-extreme(24 chars inc white space)

Words after truncation: 4

Rolled back to(due to exceeding 16):but-there-should

Length rolled back line: 16

This word getting truncated:extreme

The current buffer is: 0

Number words to accomodate for: 3(but-there-should)

Last word in tokenizer should be same as truncated word: extreme

What is wordcount here: 7

What is truncated word count: 3(but-there-should) 16 chars

The current bufferis: 0

Your line getting bigger:but-there:should-extreme-extreme-amount(39 chars inc white space)
Words after truncation: 5

Rolled back to(due to exceeding 16):but-there-should-extreme-extreme

Length rolled back line: 32

This word getting truncated:amount

The current buffer is: -16

Number words to accomodate for: 4(but-there-should-extreme-extreme)

Last word in tokenizer should be same as truncated word: amount

What is wordcount here: 8

What is truncated word count: 4(but-there-should-extreme-extreme) 32 chars

The current buffer is: -16

Your line getting bigger:but-there-should-extreme-extreme-amount-amount-on(49 chars inc white space)
Words after truncation: 6

Rolled back to(due to exceeding 16):but-there-should-extreme-extreme-amount-amount
Length rolled back line: 46

This word getting truncated:on

The current buffer is: -30

Number words to accomodate for: 5(but-there:-should-extreme-extreme-amount-amount)
Last word in tokenizer should be same as truncated word: on

What is wordcount here: 9

What is truncated word count: 5(but-there-should-extreme-extreme-amount-amount) 46 chars
The current buffer is: -30

Your line getting bigger:but-there-should-extreme-extreme-amount-amount-on-on-start(58 chars inc white
space)

Words after truncation: 7

Rolled back to(due to exceeding 16):but-there-should-extreme-extreme-amount-amount-on-on
Length rolled back line: 52



This word getting truncated:start

The current buffer is: -36

Number words to accomodate for: 6(but-there:should-extreme-extreme-amount-amount-on-on)

Last word in tokenizer should be same as truncated word: start

What is wordcount here: 10

What is truncated word count: 6(but-there-should-extreme-extreme-amount-amount-on-on) 52 chars

The current buffer is: -36

Your line getting bigger:but-there-should-extreme-extreme-amount-amount-on-on-start-start-second(71 chars
inc white space)

Words after truncation: 8

Rolled back to(due to exceeding 16):but-there-should-extreme-extreme-amount-amount-on-on-start-start
Length rolled back line: 64

This word getting truncated:second

The current buffer is: -48

Number words to accomodate for: 7(but-there-should-extreme-extreme-amount-amount-on-on-start-start)
Last word in tokenizer should be same as truncated word: second

What is wordcount here: 11

What is truncated word count: 7(but-there-should-extreme-extreme-amount-amount-on-on-start-start) 64 chars
The current buffer is: -48

Your line getting
bigger:but-there-should-extreme-extreme-amount-amount-on-on-start-start-second-second:line(83 chars inc
white space)

Words after truncation: 9

Rolled back to(due to exceeding
16):but-there-should-extreme-extreme-amount-amount-on-on-start-start-second-second

Length rolled back line: 78

This word getting truncated:line

The current buffer is: -62

Number words to accomodate for:
8(but-there:should-extreme-extreme-amount-amount-on-on-start-start-second-second)

Last word in tokenizer should be same as truncated word: line

What is wordcount here: 12

What is truncated word count:
8(but-there:should-extreme-extreme-amount-amount-on-on-start-start-second-second) 78 chars

The current buffer is: -62

Finally completed the last
line:but-there-should-extreme-extreme-amount-amount-on-on-start-start-second-second:line

Left over Stringloiner: 8 word(s)=>
but-there-should-extreme-extreme-amount-amount-on-on-start-start-second-second:line (83 chars inc white
space)

Total running words: 12

Buffer is: -67

There is one word in last line:line

CURRENT LENGTH of line: 4
but-there-should-extreme-extreme-amount-amount-on-on-start-start-second-second-line =>qualifies for -67
padding at end since it has:8 word(s)

completed line:but-there-should-extreme-extreme-amount-amount-on-on-start-start-second-second:line
NEW LENGTH of line:83

£#%XTH|S WILL PRINT ENTIRE TEXT* %% kokkoksdoeok
Some:--blank:-now

but-there-should-extreme-extreme-amount-amount-on-on-start-start-second-second:line
3k 3k 3k 3k >k 3k sk 3k sk >k sk %k 5k %k ok %k ok sk kock kok sk ok sk kk ok ok

** Process exited - Return Code: 0 **



| have remediated this situation... | think it would also begin to add
lots of unnecessary code in a way which would not suit the design
that | chose to use.

So, the code would be less readable and also perhaps lose its
professionalism.

But | had to complete the action at minimum for front
existingFrontalPadding since requirements did not state to remove
this...

Also, in real world for example, if end user has chosen to deliberately
including front space such as in headings, this will be compromised...
So a fix was required...

Retrospectively, the exercise did promote uniform space inter words..
So it would be a contradiction trying to force issue and further
implement beyond the frontal padding.

Due to all the changes, | created another coded version since it
effectively changed the pseudo code and code arrangement of the
first..

If there is ever any need to maintain existing inter-word padding, it is
explained how it can be achieved using the figure overleaf.



f1xa1sodmau=y

7 UOT1EDUNJ] JB1JE SPUOM
(@2eds 2a3Tym DSUT Sueyd £T)HUBTQq-SWOS- 4, 143BFTq SuT338 SUTT JnoA
JUeTq- =Yy T

AUETY-BWOS - 4y :USUTOLBUTUIS JATSNI " Panosal

T gutppedTejuoa4Sutystxa +  Sutppedre [}sT Ip : [3}ST II'e sH

BADEIBN
Sy} wouy Aeme
Ae1s 0] pajuem |

T uotido ERLIESTRIIIN

SUWOS 45 IONIAAYd TVINOHA SNILSIXI HIIM NINOL 1SHI4 JLVNHILTIV mojish
.unmr_vu.d.r_m u.u_.xwu_.v 3t ue TeSe JapTTngSutd 3PTSUT ATFuUaJJ4nd Usas 99 ues
jueTq:utede uspTTngSuTJuls apTsuT AT} PUE 1981109

f(y + .:on uT3uTJd 3N0"

(y + ,:9nt ,JuT3utad-3no jueTq:aJsy uaxol 3yl ST STyl MOU SISIY|
T :UOT}EDUNJ] J31JE SPJOM

(++y f()yr8uat" ix=1: 1xalsodmau=y 1uT) o

oeds a3Tym DUt S C J43881q put
T

al
JWOS - xx:JBY OS5 2424 SUTT palewwJoiun

BUWOS + 44 1 JBUTOLSUTULS JAISNI
{..= SUTpPpEedTeluOJ{TUTISTXS padusnjul 8q

0SB [IM JaulorBums 7 uorido
8u) ‘pepadxe sy SWOS 4 5 IVIEEYA TVINOYA DNIISIXI HLIIM NINOL 1SYI4 JLYNHILIV

awos:utefe JuspTTng3uTJdls SPTSUT ATIuaJdJdnd

f(ButJuaspiuadol)ppe-Ls
H Q SuippedrejuocadduTysixa v_u_um..mm

IWoS:iaJda2y u=yol Iyl ST STY|

aleudoidde
10U sem dway % -pe3d91ap Butpped Tejuod) BuTrisTIxa
sy} Bunye} Aes)o pue 99999
paloadxa aAey pinom
13A8U | Bulyiswos
SEM SIU] “plom Z:anTeA y
154y 8y} paddiys ose p:onTea y
SBY I19ZIUSY0] “Xa] 3yl
w0y anjea Bunoesxe @:anfen y
jouiod 151y S1SIYL Butpo) Addey ji3qar SuUTTU

zuspTTng SuTJls IPTSUT ATIUDJund

sssa204d
awes Buimol|o) pue (|23 uayol 18
Aidde [im s1yl 22UIS) Q<UNOIPIOM
104 Buippedploppaiuifunsixs se
yons a|qeuen e Guneaio ‘(abewn
yBu wopoq se) 6o Jeis
fuisn Aq pasapisuod aq o} sey
1 uayy “yoeq Buipped plom-1aul
Bunsixa 1y 01 paau JaAa S 21341 Y|

,Jurjutad-ino-u “*UONNJ3XS
voddns 01 {)suayo | slopsey1s

APRSINCONRE U Popnioul Usaq Seu S|



Welcome to Online IDE!! Happy Coding :)
Original Text: Some blank now but there should be extreme amount on start

second line

.. _ It will be seen that
This is the token here:Some throughout the code. it wil

This is the alternate token here:**Some show alternate token here...
This is just a reference
) ) point if alternateTaken
Your line getting bigger:**-Some(7 chz space) explored for wordCount=0

Words aftter truncation: 1
This is the token here:blank
This is the alternate token here:**Some

This is the token chosen:blank

This is the token chosen:##*Som

It makes caorrect choice as
expected

Your line getting bigger:¥¥.Some-blank(13 chars inc white space)

| have finally completed the code.. | did lots of testing.. And this was
required given my coding approach of just not iteratively traversing
text.

| consider this to be toughest challenge to date given the approach
undertaken...

TEST SCENARIO 1 (NEW CODE) - example given.....

String text = "The quick brown fox jumps over the lazy dog";

*HEETHIS WILL PRINT ENTIRE TEXT % # ks wskeskeseseodexek

KEY: 16 line limit

-=Inter-word padding as per requirements

*=existing frontal padding

In future, can provision for existing inter-word padding for instance multiple whitespaces..
BUT expect user to have single whitespace for the justification to look tidy

*The*quick®brown
fox* *jumps” ‘over

the®**lazy*°"dog

3k 3k 3k 3k 3k >k >k 3k 3k 3k sk 3k 3k 3k %k %k 3k 3k %k %k 3k %k %k %k k ok k k ok



TEST SCENARIO 2 (NEW CODE) - no text

_mar

»

**EETHIS WILL PRINT ENTIRE TEXT % H &k ks dxk

KEY: 16 line limit

=Inter-word padding as per requirements

*=existing frontal padding

In future, can provision for existing inter-word padding for instance multiple whitespaces..
BUT expect user to have single whitespace for the justification to look tidy

3k 3k 3k 3k 3k 3k >k 3k 3k 3k >k 3k 3k %k ok %k 3k 3k >k %k 3k %k %k %k kok sk k ok

TEST SCENARIO 3 (NEW CODE) - as described

string text = " This is a test, but making it a bit longer!”;

*HEETHIS WILL PRINT ENTIRE TEXT % # ks wskeskesesehexex

KEY: 16 line limit

=Inter-word padding as per requirements

*=existing frontal padding

In future, can provision for existing inter-word padding for instance multiple whitespaces..
BUT expect user to have single whitespace for the justification to look tidy

*This-is-a-test,
-‘but-making-it-a
bit:-----longer!

%k %k 3k 3k %k %k %k %k %k %k %k %k %k %k %k >k >k >k >k >k >k >k >k %k %k %k *k *k *k

This is first occurrence of existing natural padding on left hand side.. It forms part of the first
word....

TEST SCENARIO 4 (NEW CODE) - single word

Etriﬂg text = "My";

*AXETHIS WILL PRINT ENTIRE TEXT * %k xskehoskoke koo v

KEY: 16 line limit

-=Inter-word padding as per requirements

*=existing frontal padding

In future, can provision for existing inter-word padding for instance multiple whitespaces..
BUT expect user to have single whitespace for the justification to look tidy

3k 3k 3k 3k %k %k %k 3k %k %k %k %k %k %k %k >k >k >k >k >k >k >k >k %k 3 %k *k *k *k



TEST SCENARIO 5 (NEW CODE) - longer line and
extended frontal padding

FHFFFTHIS WILL PRINT ENTIRE TEXT * ¥ ¥ #oxw koo

My name is Amit Amlani. This is a sligthly longer test to see if the text can be spanned across multiple lines.”;

KEY: 16 line limit

=Inter-word padding as per requirements

*=existing frontal padding

In future, can provision for existing inter-word padding for instance multiple whitespaces..
BUT expect user to have single whitespace for the justification to look tidy

FEREXEEMY-name:-is
Amit:----Amlani.
sligthly--longer
--test-to-see-if
-the-text-can-be
spanned:--across
multiple:-lines.

3k 3k 3k 3k 3k >k %k 3k 3k 3k %k ok 3k 3k %k %k 3k 3k %k %k 5k %k %k %k *k >k k k¥

TEST SCENARIO 6 (NEW CODE) - longer line and heavy
intermittent padding - FAIL

Some blank now but there should be extreme amount on start second line";

FAXETHIS WILL PRINT ENTIRE TEXT s hoxoseseowoke sk

KEY: 16 line limit

-=Inter-word padding as per requirements

*=existing frontal padding

In future, can provision for existing inter-word padding for instance multiple whitespaces..
BUT expect user to have single whitespace for the justification to look tidy



**Some-blank-now
but-there-should
be::-----extreme
-amount-on-start
second::---:line

%k %k 3k 3k %k %k 5k 5k 5k %k %k %k %k %k %k >k >k >k >k >k >k >k %k %k >k >k *k *k *k

Although there is large space, it is not consistent with text.. It is as explained, Tokenizer does
not maintain extra whitespaces in original text.. Apart from that, it is all formatted as
expected...

TEST SCENARIO 7 (NEW CODE) - exact fit with k
variable

String text = "This will be 16.";

*HFXTHIS WILL PRINT ENTIRE TEXT*# %k ssokokskok

KEY: 16 line limit

=Inter-word padding as per requirements

*=existing frontal padding

In future, can provision for existing inter-word padding for instance multiple whitespaces..
BUT expect user to have single whitespace for the justification to look tidy

This-will-be-16.

3k 3k 3k 3k 3k %k %k 3k 3%k %k %k %k %k %k %k >k >k >k >k >k %k >k k %k % %k *k *k *k

TEST SCENARIO 8 (NEW CODE) - first line in exact k
boundary. Second line with word Amit

F:ﬁiﬂg text = "This will be 16. Amit";

This is scenario | did not test with old code.. And it would have failed...

**EATHIS WILL PRINT ENTIRE TEXT#% % # s kokorosckototokx
KEY: 16 line limit



-=Inter-word padding as per requirements

*=existing frontal padding

In future, can provision for existing inter-word padding for instance multiple whitespaces..
BUT expect user to have single whitespace for the justification to look tidy

This-will-be-16.

3k 3k 3k 3k 3k 3k 3k 3k 3k 3k %k %k %k %k %k >k >k 3k >k >k >k >k k %k 3k >k *k k¥

TEST SCENARIO 9 (NEW CODE) - word exceeds k limit

F:ﬁiﬂg text = "Thiswillbetesting 16 testing.”;

The following word exceeds line limit of
k(16):Thiswillbetesting

TEST SCENARIO 10 (NEW CODE) - pushing the limit

The following word exceeds line limit of
k(16):class-based2222222,



TEST SCENARIO 11 (NEW CODE) - resolving woed limit
issue in line, executing again with full ***QUTPUT**

Welcome to Online IDE!! Happy Coding :)

Original Text: Java is a high-level, class-based, object-oriented programming language that is designed
to have as few implementation dependencies as possible. It is a general-purpose programming
language intended to let programmers write once, run anywhere (WORA),[16] meaning that compiled
Java code can run on all platforms that support Java without the need to recompile.[17] Java
applications are typically compiled to bytecode that can run on any Java virtual machine (JVM)
regardless of the underlying computer architecture. The syntax of Java is similar to C and C++, but has
fewer low-level facilities than either of them. The Java runtime provides dynamic capabilities (such as
reflection and runtime code modification) that are typically not available in traditional compiled
languages.

Your line getting bigger:Java(4 chars inc white space)

Words after truncation: 1

Your line getting bigger:Java-is(7 chars inc white space)

Words after truncation: 2

Your line getting bigger:Java-is-a(9 chars inc white space)
Words after truncation: 3

Your line getting bigger:Java-is-a-high-level,(21 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):Java-is-a

Length rolled back line: 9

This word getting truncated:high-level,

The current buffer is: 7

Number words to accomodate for: 3(Java-is-a)

Last word in tokenizer should be same as truncated word: high-level,
What is wordcount here: 4

What is truncated word count: 3(Java-is-a) 9 chars

Value of temp:high-level,

Java-isra =>qualifies for 7 padding at front since it has:3 words
CURRENT LENGTH of line: 9

NEW LENGTH of line after formatting: 16

Completed line::+--- Java-is-a

This word will be carried over to next line:high-level,

Your line getting bigger:high-level,-class-based,(24 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):high-level,

Length rolled back line: 11

This word getting truncated:class-based,

The current buffer is: 5

Number words to accomodate for: 1(high-level,)

Last word in tokenizer should be same as truncated word: class-based,
What is wordcount here: 5

What is truncated word count: 1(high-level,) 11 chars

Value of temp:class-based,

high-level, =>qualifies for 5 padding at end since it has:1 words
CURRENT LENGTH of line: 11

NEW LENGTH of line after formatting: 16

Completed line:high-level,--

This word will be carried over to next line:class-based,

Your line getting bigger:class-based,-object-oriented(28 chars inc white space)



Words after truncation: 2

Rolled back to(due to exceeding 16):class-based,

Length rolled back line: 12

This word getting truncated:object-oriented

The current buffer is: 4

Number words to accomodate for: 1(class-based,)

Last word in tokenizer should be same as truncated word: object-oriented
What is wordcount here: 6

What is truncated word count: 1(class-based,) 12 chars

Value of temp:object-oriented

class-based, =>qualifies for 4 padding at end since it has:1 words
CURRENT LENGTH of line: 12

NEW LENGTH of line after formatting: 16

Completed line:class-based, -

This word will be carried over to next line:object-oriented

Your line getting bigger:object-oriented-programming(27 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):0bject-oriented

Length rolled back line: 15

This word getting truncated:programming

The current buffer is: 1

Number words to accomodate for: 1(object-oriented)

Last word in tokenizer should be same as truncated word: programming
What is wordcount here: 7

What is truncated word count: 1(object-oriented) 15 chars

Value of temp:programming

object-oriented =>qualifies for 1 padding at end since it has:1 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:object-oriented-

This word will be carried over to next line:programming

Your line getting bigger:programming:language(20 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):programming

Length rolled back line: 11

This word getting truncated:language

The current buffer is: 5

Number words to accomodate for: 1(programming)

Last word in tokenizer should be same as truncated word: language
What is wordcount here: 8

What is truncated word count: 1(programming) 11 chars

Value of temp:language

programming =>qualifies for 5 padding at end since it has:1 words
CURRENT LENGTH of line: 11

NEW LENGTH of line after formatting: 16

Completed line:programming:---

This word will be carried over to next line:language

Your line getting bigger:language-that(13 chars inc white space)
Words after truncation: 2

Your line getting bigger:language-that-is(16 chars inc white space)
Words after truncation: 3

Completed line:language-that:is

NEW LENGTH of line:16

Your line getting bigger:designed(8 chars inc white space)



Words after truncation: 1

Your line getting bigger:designed-to(11 chars inc white space)

Words after truncation: 2

Your line getting bigger:designed-to-have(16 chars inc white space)
Words after truncation: 3

Completed line:designed-to-have

NEW LENGTH of line:16

Your line getting bigger:as(2 chars inc white space)

Words after truncation: 1

Your line getting bigger:as-few(6 chars inc white space)

Words after truncation: 2

Your line getting bigger:as-few-implementation(21 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):as-few

Length rolled back line: 6

This word getting truncated:implementation

The current buffer is: 10

Number words to accomodate for: 2(as-few)

Last word in tokenizer should be same as truncated word: implementation
What is wordcount here: 16

What is truncated word count: 2(as-few) 6 chars

Value of temp:implementation

CURRENT LENGTH of line: 6

Qualified for extra padding

10 extra padding between:as-few

It will now process truncated string with extra 10 padding between the words:as-few
Your line getting bigger:as(2 chars inc white space)

Your line getting bigger:as:-:---+-:- few(16 chars inc white space)
NEW LENGTH of line after formatting: 16
Completed line:as:---«««: few

This word will be carried over to next line:implementation

Your line getting bigger:implementation-dependencies(27 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):implementation

Length rolled back line: 14

This word getting truncated:dependencies

The current buffer is: 2

Number words to accomodate for: 1(implementation)

Last word in tokenizer should be same as truncated word: dependencies
What is wordcount here: 17

What is truncated word count: 1(implementation) 14 chars

Value of temp:dependencies

implementation =>qualifies for 2 padding at end since it has:1 words
CURRENT LENGTH of line: 14

NEW LENGTH of line after formatting: 16

Completed line:implementation:-

This word will be carried over to next line:dependencies

Your line getting bigger:dependencies-as(15 chars inc white space)

Words after truncation: 2

Your line getting bigger:dependencies-as-possible.(25 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):dependencies-as

Length rolled back line: 15

This word getting truncated:possible.

The current buffer is: 1



Number words to accomodate for: 2(dependencies-as)

Last word in tokenizer should be same as truncated word: possible.
What is wordcount here: 19

What is truncated word count: 2(dependencies-as) 15 chars

Value of temp:possible.

CURRENT LENGTH of line: 15

Qualified for extra padding

1 extra padding between:dependencies-as

It will now process truncated string with extra 1 padding between the words:dependencies-as
Your line getting bigger:dependencies(12 chars inc white space)
Your line getting bigger:dependencies--as(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:dependencies--as

This word will be carried over to next line:possible.

Your line getting bigger:possible.-It(12 chars inc white space)
Words after truncation: 2

Your line getting bigger:possible.-It-is(15 chars inc white space)
Words after truncation: 3

Your line getting bigger:possible.-It-is-a(17 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):possible.-It-is

Length rolled back line: 15

This word getting truncated:a

The current buffer is: 1

Number words to accomodate for: 3(possible.:It-is)

Last word in tokenizer should be same as truncated word: a
What is wordcount here: 22

What is truncated word count: 3(possible.-It-is) 15 chars

Value of temp:a

possible.-lt-is =>qualifies for 1 padding at front since it has:3 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:-possible.-It-is

This word will be carried over to next line:a

Your line getting bigger:a-general-purpose(17 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):a

Length rolled back line: 1

This word getting truncated:general-purpose

The current buffer is: 15

Number words to accomodate for: 1(a)

Last word in tokenizer should be same as truncated word: general-purpose
What is wordcount here: 23

What is truncated word count: 1(a) 1 chars

Value of temp:general-purpose

a =>qualifies for 15 padding at end since it has:1 words

CURRENT LENGTH of line: 1

NEW LENGTH of line after formatting: 16

Completed line:@:« - wwsweee

This word will be carried over to next line:general-purpose

Your line getting bigger:general-purpose-programming(27 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):general-purpose

Length rolled back line: 15



This word getting truncated:programming

The current buffer is: 1

Number words to accomodate for: 1(general-purpose)

Last word in tokenizer should be same as truncated word: programming
What is wordcount here: 24

What is truncated word count: 1(general-purpose) 15 chars

Value of temp:programming

general-purpose =>qualifies for 1 padding at end since it has:1 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:general-purpose:

This word will be carried over to next line:programming

Your line getting bigger:programming-language(20 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):programming

Length rolled back line: 11

This word getting truncated:language

The current buffer is: 5

Number words to accomodate for: 1(programming)

Last word in tokenizer should be same as truncated word: language
What is wordcount here: 25

What is truncated word count: 1(programming) 11 chars

Value of temp:language

programming =>qualifies for 5 padding at end since it has:1 words
CURRENT LENGTH of line: 11

NEW LENGTH of line after formatting: 16

Completed line:programming:---

This word will be carried over to next line:language

Your line getting bigger:language-intended(17 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):language

Length rolled back line: 8

This word getting truncated:intended

The current buffer is: 8

Number words to accomodate for: 1(language)

Last word in tokenizer should be same as truncated word: intended
What is wordcount here: 26

What is truncated word count: 1(language) 8 chars

Value of temp:intended

language =>qualifies for 8 padding at end since it has:1 words
CURRENT LENGTH of line: 8

NEW LENGTH of line after formatting: 16

Completed line:language:«---

This word will be carried over to next line:intended

Your line getting bigger:intended-to(11 chars inc white space)

Words after truncation: 2

Your line getting bigger:intended-to-let(15 chars inc white space)

Words after truncation: 3

Your line getting bigger:intended-to-let-programmers(27 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):intended-to-let

Length rolled back line: 15

This word getting truncated:programmers

The current buffer is: 1



Number words to accomodate for: 3(intended-to-let)

Last word in tokenizer should be same as truncated word: programmers
What is wordcount here: 29

What is truncated word count: 3(intended-to-let) 15 chars

Value of temp:programmers

intended-to-let =>qualifies for 1 padding at front since it has:3 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:-intended-to-let

This word will be carried over to next line:programmers

Your line getting bigger:programmers-write(17 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):programmers

Length rolled back line: 11

This word getting truncated:write

The current buffer is: 5

Number words to accomodate for: 1(programmers)

Last word in tokenizer should be same as truncated word: write
What is wordcount here: 30

What is truncated word count: 1(programmers) 11 chars

Value of temp:write

programmers =>qualifies for 5 padding at end since it has:1 words
CURRENT LENGTH of line: 11

NEW LENGTH of line after formatting: 16

Completed line:programmers::::-

This word will be carried over to next line:write

Your line getting bigger:write-once,(11 chars inc white space)

Words after truncation: 2

Your line getting bigger:write-once,-run(15 chars inc white space)
Words after truncation: 3

Your line getting bigger:write-once,-run-anywhere(24 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):write-once,-run

Length rolled back line: 15

This word getting truncated:anywhere

The current buffer is: 1

Number words to accomodate for: 3(write-once,-run)

Last word in tokenizer should be same as truncated word: anywhere
What is wordcount here: 33

What is truncated word count: 3(write-once,-run) 15 chars

Value of temp:anywhere

write-once,-run =>qualifies for 1 padding at front since it has:3 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:-write-once,-run

This word will be carried over to next line:anywhere

Your line getting bigger:anywhere:(WORA),[16](20 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):anywhere

Length rolled back line: 8

This word getting truncated:(WORA),[16]

The current buffer is: 8

Number words to accomodate for: 1(anywhere)

Last word in tokenizer should be same as truncated word: (WORA),[16]



What is wordcount here: 34

What is truncated word count: 1(anywhere) 8 chars

Value of temp:(WORA),[16]

anywhere =>qualifies for 8 padding at end since it has:1 words
CURRENT LENGTH of line: 8

NEW LENGTH of line after formatting: 16

Completed line:anywhere::+-:-

This word will be carried over to next line:(WORA),[16]

Your line getting bigger:(WORA),[16]-meaning(19 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):(WORA),[16]

Length rolled back line: 11

This word getting truncated:meaning

The current buffer is: 5

Number words to accomodate for: 1((WORA),[16])

Last word in tokenizer should be same as truncated word: meaning
What is wordcount here: 35

What is truncated word count: 1((WORA),[16]) 11 chars

Value of temp:meaning

(WORA),[16] =>qualifies for 5 padding at end since it has:1 words
CURRENT LENGTH of line: 11

NEW LENGTH of line after formatting: 16

Completed line:(WORA),[16]:-+-

This word will be carried over to next line:meaning

Your line getting bigger:meaning-that(12 chars inc white space)
Words after truncation: 2

Your line getting bigger:meaning-that-compiled(21 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):meaning-that

Length rolled back line: 12

This word getting truncated:compiled

The current buffer is: 4

Number words to accomodate for: 2(meaning-that)

Last word in tokenizer should be same as truncated word: compiled
What is wordcount here: 37

What is truncated word count: 2(meaning-that) 12 chars

Value of temp:compiled

CURRENT LENGTH of line: 12

Qualified for extra padding

4 extra padding between:meaning-that

It will now process truncated string with extra 4 padding between the words:meaning-that
Your line getting bigger:meaning(7 chars inc white space)

Your line getting bigger:meaning:----that(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:meaning:----that

This word will be carried over to next line:compiled

Your line getting bigger:compiled-Java(13 chars inc white space)
Words after truncation: 2

Your line getting bigger:compiled-Java-code(18 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):compiled-Java

Length rolled back line: 13

This word getting truncated:code

The current buffer is: 3



Number words to accomodate for: 2(compiled-Java)

Last word in tokenizer should be same as truncated word: code
What is wordcount here: 39

What is truncated word count: 2(compiled-Java) 13 chars

Value of temp:code

CURRENT LENGTH of line: 13

Qualified for extra padding

3 extra padding between:compiled-Java

It will now process truncated string with extra 3 padding between the words:compiled-Java
Your line getting bigger:compiled(8 chars inc white space)

Your line getting bigger:compiled--:-Java(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:compiled----Java

This word will be carried over to next line:code

Your line getting bigger:code-can(8 chars inc white space)

Words after truncation: 2

Your line getting bigger:code-can-run(12 chars inc white space)
Words after truncation: 3

Your line getting bigger:code-can-run-on(15 chars inc white space)
Words after truncation: 4

Your line getting bigger:code-can-run-on-all(19 chars inc white space)
Words after truncation: 5

Rolled back to(due to exceeding 16):code:can-run-on

Length rolled back line: 15

This word getting truncated:all

The current buffer is: 1

Number words to accomodate for: 4(code-can-run-on)

Last word in tokenizer should be same as truncated word: all
What is wordcount here: 43

What is truncated word count: 4(code-can-run-on) 15 chars
Value of temp:all

code-can-run-on =>qualifies for 1 padding at front since it has:4 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:-code-can-run-on

This word will be carried over to next line:all

Your line getting bigger:all-platforms(13 chars inc white space)
Words after truncation: 2

Your line getting bigger:all-platforms-that(18 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):all-platforms

Length rolled back line: 13

This word getting truncated:that

The current buffer is: 3

Number words to accomodate for: 2(all-platforms)

Last word in tokenizer should be same as truncated word: that
What is wordcount here: 45

What is truncated word count: 2(all-platforms) 13 chars

Value of temp:that

CURRENT LENGTH of line: 13

Qualified for extra padding

3 extra padding between:all-platforms

It will now process truncated string with extra 3 padding between the words:all-platforms
Your line getting bigger:all(3 chars inc white space)

Your line getting bigger:all----platforms(16 chars inc white space)



NEW LENGTH of line after formatting: 16
Completed line:all----platforms
This word will be carried over to next line:that

Your line getting bigger:that-support(12 chars inc white space)
Words after truncation: 2

Your line getting bigger:that-support-Java(17 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):that-support

Length rolled back line: 12

This word getting truncated:Java

The current buffer is: 4

Number words to accomodate for: 2(that-support)

Last word in tokenizer should be same as truncated word: Java
What is wordcount here: 47

What is truncated word count: 2(that-support) 12 chars

Value of temp:Java

CURRENT LENGTH of line: 12

Qualified for extra padding

4 extra padding between:that-support

It will now process truncated string with extra 4 padding between the words:that-support
Your line getting bigger:that(4 chars inc white space)

Your line getting bigger:that-----support(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:that:---support

This word will be carried over to next line:Java

Your line getting bigger:Java-without(12 chars inc white space)

Words after truncation: 2

Your line getting bigger:Java-without-the(16 chars inc white space)
Words after truncation: 3

Completed line:Java-without-the

NEW LENGTH of line:16

Your line getting bigger:need(4 chars inc white space)

Words after truncation: 1

Your line getting bigger:need-to(7 chars inc white space)

Words after truncation: 2

Your line getting bigger:need-to-recompile.[17](22 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):need-to

Length rolled back line: 7

This word getting truncated:recompile.[17]

The current buffer is: 9

Number words to accomodate for: 2(need-to)

Last word in tokenizer should be same as truncated word: recompile.[17]
What is wordcount here: 52

What is truncated word count: 2(need-to) 7 chars

Value of temp:recompile.[17]

CURRENT LENGTH of line: 7

Qualified for extra padding

9 extra padding between:need-to

It will now process truncated string with extra 9 padding between the words:need-to
Your line getting bigger:need(4 chars inc white space)

Your line getting bigger:need::-+--+- to(16 chars inc white space)
NEW LENGTH of line after formatting: 16
Completed line:need:---- to

This word will be carried over to next line:recompile.[17]



Your line getting bigger:recompile.[17]-Java(19 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):recompile.[17]

Length rolled back line: 14

This word getting truncated:Java

The current buffer is: 2

Number words to accomodate for: 1(recompile.[17])

Last word in tokenizer should be same as truncated word: Java
What is wordcount here: 53

What is truncated word count: 1(recompile.[17]) 14 chars

Value of temp:Java

recompile.[17] =>qualifies for 2 padding at end since it has:1 words
CURRENT LENGTH of line: 14

NEW LENGTH of line after formatting: 16

Completed line:recompile.[17]-

This word will be carried over to next line:Java

Your line getting bigger:Java-applications(17 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):Java

Length rolled back line: 4

This word getting truncated:applications

The current buffer is: 12

Number words to accomodate for: 1(Java)

Last word in tokenizer should be same as truncated word: applications
What is wordcount here: 54

What is truncated word count: 1(Java) 4 chars

Value of temp:applications

Java =>qualifies for 12 padding at end since it has:1 words
CURRENT LENGTH of line: 4

NEW LENGTH of line after formatting: 16

Completed line:Java:-««:---

This word will be carried over to next line:applications

Your line getting bigger:applications-are(16 chars inc white space)
Words after truncation: 2

Completed line:applications-are

NEW LENGTH of line:16

Your line getting bigger:typically(9 chars inc white space)

Words after truncation: 1

Your line getting bigger:typically-compiled(18 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):typically

Length rolled back line: 9

This word getting truncated:compiled

The current buffer is: 7

Number words to accomodate for: 1(typically)

Last word in tokenizer should be same as truncated word: compiled
What is wordcount here: 57

What is truncated word count: 1(typically) 9 chars

Value of temp:compiled

typically =>qualifies for 7 padding at end since it has:1 words
CURRENT LENGTH of line: 9

NEW LENGTH of line after formatting: 16

Completed line:typically:-----

This word will be carried over to next line:compiled



Your line getting bigger:compiled-to(11 chars inc white space)
Words after truncation: 2

Your line getting bigger:compiled-to-bytecode(20 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):compiled-to

Length rolled back line: 11

This word getting truncated:bytecode

The current buffer is: 5

Number words to accomodate for: 2(compiled-to)

Last word in tokenizer should be same as truncated word: bytecode
What is wordcount here: 59

What is truncated word count: 2(compiled-to) 11 chars

Value of temp:bytecode

CURRENT LENGTH of line: 11

Qualified for extra padding

5 extra padding between:compiled-to

It will now process truncated string with extra 5 padding between the words:compiled-to
Your line getting bigger:compiled(8 chars inc white space)

Your line getting bigger:compiled:-----to(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:compiled:---to

This word will be carried over to next line:bytecode

Your line getting bigger:bytecode-that(13 chars inc white space)
Words after truncation: 2

Your line getting bigger:bytecode-that-can(17 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):bytecode-that

Length rolled back line: 13

This word getting truncated:can

The current buffer is: 3

Number words to accomodate for: 2(bytecode-that)

Last word in tokenizer should be same as truncated word: can
What is wordcount here: 61

What is truncated word count: 2(bytecode-that) 13 chars

Value of temp:can

CURRENT LENGTH of line: 13

Qualified for extra padding

3 extra padding between:bytecode-that

It will now process truncated string with extra 3 padding between the words:bytecode-that
Your line getting bigger:bytecode(8 chars inc white space)

Your line getting bigger:bytecode:--that(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:bytecode:--that

This word will be carried over to next line:can

Your line getting bigger:can-run(7 chars inc white space)

Words after truncation: 2

Your line getting bigger:can-run-on(10 chars inc white space)

Words after truncation: 3

Your line getting bigger:can-run-on-any(14 chars inc white space)
Words after truncation: 4

Your line getting bigger:can-run-on-any-Java(19 chars inc white space)
Words after truncation: 5

Rolled back to(due to exceeding 16):can-run-on-any

Length rolled back line: 14



This word getting truncated:Java

The current buffer is: 2

Number words to accomodate for: 4(can-run-on-any)

Last word in tokenizer should be same as truncated word: Java
What is wordcount here: 65

What is truncated word count: 4(can-run-on-any) 14 chars
Value of temp:Java

can-run-on-any =>qualifies for 2 padding at front since it has:4 words
CURRENT LENGTH of line: 14

NEW LENGTH of line after formatting: 16

Completed line:--:can-run-on-any

This word will be carried over to next line:Java

Your line getting bigger:Java-virtual(12 chars inc white space)
Words after truncation: 2

Your line getting bigger:Java-virtual-machine(20 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):Java-virtual

Length rolled back line: 12

This word getting truncated:machine

The current buffer is: 4

Number words to accomodate for: 2(Java-virtual)

Last word in tokenizer should be same as truncated word: machine
What is wordcount here: 67

What is truncated word count: 2(Java-virtual) 12 chars

Value of temp:machine

CURRENT LENGTH of line: 12

Qualified for extra padding

4 extra padding between:Java-virtual

It will now process truncated string with extra 4 padding between the words:Java-virtual
Your line getting bigger:Java(4 chars inc white space)

Your line getting bigger:Java----virtual(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:Java-----virtual

This word will be carried over to next line:machine

Your line getting bigger:machine-(JVM)(13 chars inc white space)
Words after truncation: 2

Your line getting bigger:machine:(JVM)-regardless(24 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):machine-(JVM)

Length rolled back line: 13

This word getting truncated:regardless

The current buffer is: 3

Number words to accomodate for: 2(machine-(JVM))

Last word in tokenizer should be same as truncated word: regardless
What is wordcount here: 69

What is truncated word count: 2(machine-(JVM)) 13 chars

Value of temp:regardless

CURRENT LENGTH of line: 13

Qualified for extra padding

3 extra padding between:machine-(JVM)

It will now process truncated string with extra 3 padding between the words:machine:(JVM)
Your line getting bigger:machine(7 chars inc white space)

Your line getting bigger:machine::--(JVM)(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:machine:---(JVM)



This word will be carried over to next line:regardless

Your line getting bigger:regardless-of(13 chars inc white space)
Words after truncation: 2

Your line getting bigger:regardless-of-the(17 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):regardless-of

Length rolled back line: 13

This word getting truncated:the

The current buffer is: 3

Number words to accomodate for: 2(regardless-of)

Last word in tokenizer should be same as truncated word: the
What is wordcount here: 71

What is truncated word count: 2(regardless-of) 13 chars

Value of temp:the

CURRENT LENGTH of line: 13

Qualified for extra padding

3 extra padding between:regardless-of

It will now process truncated string with extra 3 padding between the words:regardless-of
Your line getting bigger:regardless(10 chars inc white space)
Your line getting bigger:regardless--:-of(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:regardless:::-of

This word will be carried over to next line:the

Your line getting bigger:the-underlying(14 chars inc white space)
Words after truncation: 2

Your line getting bigger:the-underlying-computer(23 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):the-underlying

Length rolled back line: 14

This word getting truncated:computer

The current buffer is: 2

Number words to accomodate for: 2(the-underlying)

Last word in tokenizer should be same as truncated word: computer
What is wordcount here: 73

What is truncated word count: 2(the-underlying) 14 chars

Value of temp:computer

CURRENT LENGTH of line: 14

Qualified for extra padding

2 extra padding between:the-underlying

It will now process truncated string with extra 2 padding between the words:the-underlying
Your line getting bigger:the(3 chars inc white space)

Your line getting bigger:the:--underlying(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:the:--underlying

This word will be carried over to next line:computer

Your line getting bigger:computer-architecture.(22 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):computer

Length rolled back line: 8

This word getting truncated:architecture.

The current buffer is: 8

Number words to accomodate for: 1(computer)

Last word in tokenizer should be same as truncated word: architecture.
What is wordcount here: 74



What is truncated word count: 1(computer) 8 chars

Value of temp:architecture.

computer =>qualifies for 8 padding at end since it has:1 words
CURRENT LENGTH of line: 8

NEW LENGTH of line after formatting: 16

Completed line:computer:::-----

This word will be carried over to next line:architecture.

Your line getting bigger:architecture.-The(17 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):architecture.

Length rolled back line: 13

This word getting truncated:The

The current buffer is: 3

Number words to accomodate for: 1(architecture.)

Last word in tokenizer should be same as truncated word: The
What is wordcount here: 75

What is truncated word count: 1(architecture.) 13 chars

Value of temp:The

architecture. =>qualifies for 3 padding at end since it has:1 words
CURRENT LENGTH of line: 13

NEW LENGTH of line after formatting: 16

Completed line:architecture.--

This word will be carried over to next line:The

Your line getting bigger:The:syntax(10 chars inc white space)

Words after truncation: 2

Your line getting bigger:The-syntax-of(13 chars inc white space)
Words after truncation: 3

Your line getting bigger:The-syntax-of-Java(18 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):The-syntax-of

Length rolled back line: 13

This word getting truncated:Java

The current buffer is: 3

Number words to accomodate for: 3(The-syntax-of)

Last word in tokenizer should be same as truncated word: Java
What is wordcount here: 78

What is truncated word count: 3(The-syntax-of) 13 chars

Value of temp:Java

The-syntax-of =>qualifies for 3 padding at front since it has:3 words
CURRENT LENGTH of line: 13

NEW LENGTH of line after formatting: 16

Completed line:---The:syntax-of

This word will be carried over to next line:Java

Your line getting bigger:Java-is(7 chars inc white space)

Words after truncation: 2

Your line getting bigger:Java-is-similar(15 chars inc white space)
Words after truncation: 3

Your line getting bigger:Java-is-similar-to(18 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):Java-is-similar

Length rolled back line: 15

This word getting truncated:to

The current buffer is: 1

Number words to accomodate for: 3(Java-is-similar)



Last word in tokenizer should be same as truncated word: to

What is wordcount here: 81

What is truncated word count: 3(Java-is:similar) 15 chars

Value of temp:to

Java-is-similar =>qualifies for 1 padding at front since it has:3 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:-Java-is-similar

This word will be carried over to next line:to

Your line getting bigger:to-C(4 chars inc white space)

Words after truncation: 2

Your line getting bigger:to-C-and(8 chars inc white space)

Words after truncation: 3

Your line getting bigger:to-C-and-C++,(13 chars inc white space)
Words after truncation: 4

Your line getting bigger:to-C-and-C++,-but(17 chars inc white space)
Words after truncation: 5

Rolled back to(due to exceeding 16):to-C-and-C++,

Length rolled back line: 13

This word getting truncated:but

The current buffer is: 3

Number words to accomodate for: 4(to-C-and-C++,)

Last word in tokenizer should be same as truncated word: but
What is wordcount here: 85

What is truncated word count: 4(to-C-and-C++,) 13 chars

Value of temp:but

CURRENT LENGTH of line: 13

Qualified for extra padding

1 extra padding between:to-C-and-C++,

It will now process truncated string with extra 1 padding between the words:to-C-and-C++,
Your line getting bigger:to(2 chars inc white space)

Your line getting bigger:to--C(5 chars inc white space)

Your line getting bigger:to--C:-and(10 chars inc white space)

Your line getting bigger:to--C--and:-C++,(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:to--C--and--C++,

This word will be carried over to next line:but

Your line getting bigger:but-has(7 chars inc white space)

Words after truncation: 2

Your line getting bigger:but-has-fewer(13 chars inc white space)
Words after truncation: 3

Your line getting bigger:but-has-fewer:-low-level(23 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):but-has-fewer

Length rolled back line: 13

This word getting truncated:low-level

The current buffer is: 3

Number words to accomodate for: 3(but-has-fewer)

Last word in tokenizer should be same as truncated word: low-level
What is wordcount here: 88

What is truncated word count: 3(but-has-fewer) 13 chars

Value of temp:low-level

but-has-fewer =>qualifies for 3 padding at front since it has:3 words
CURRENT LENGTH of line: 13

NEW LENGTH of line after formatting: 16



Completed line:--but-has-fewer
This word will be carried over to next line:low-level

Your line getting bigger:low-level-facilities(20 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):low-level

Length rolled back line: 9

This word getting truncated:facilities

The current buffer is: 7

Number words to accomodate for: 1(low-level)

Last word in tokenizer should be same as truncated word: facilities
What is wordcount here: 89

What is truncated word count: 1(low-level) 9 chars

Value of temp:facilities

low-level =>qualifies for 7 padding at end since it has:1 words
CURRENT LENGTH of line: 9

NEW LENGTH of line after formatting: 16

Completed line:low-level-:-+--

This word will be carried over to next line:facilities

Your line getting bigger:facilities-than(15 chars inc white space)
Words after truncation: 2

Your line getting bigger:facilities-than-either(22 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):facilities-than

Length rolled back line: 15

This word getting truncated:either

The current buffer is: 1

Number words to accomodate for: 2(facilities-than)

Last word in tokenizer should be same as truncated word: either
What is wordcount here: 91

What is truncated word count: 2(facilities-than) 15 chars

Value of temp:either

CURRENT LENGTH of line: 15

Qualified for extra padding

1 extra padding between:facilities-than

It will now process truncated string with extra 1 padding between the words:facilities-than
Your line getting bigger:facilities(10 chars inc white space)

Your line getting bigger:facilities:-than(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:facilities--than

This word will be carried over to next line:either

Your line getting bigger:either-of(9 chars inc white space)

Words after truncation: 2

Your line getting bigger:either-of-them.(15 chars inc white space)
Words after truncation: 3

Your line getting bigger:either-of-them.-The(19 chars inc white space)
Words after truncation: 4

Rolled back to(due to exceeding 16):either-of-them.

Length rolled back line: 15

This word getting truncated:The

The current buffer is: 1

Number words to accomodate for: 3(either-of-them.)

Last word in tokenizer should be same as truncated word: The
What is wordcount here: 94

What is truncated word count: 3(either-of-them.) 15 chars



Value of temp:The

either-of-them. =>qualifies for 1 padding at front since it has:3 words
CURRENT LENGTH of line: 15

NEW LENGTH of line after formatting: 16

Completed line:-either-of-them.

This word will be carried over to next line:The

Your line getting bigger:The-Java(8 chars inc white space)

Words after truncation: 2

Your line getting bigger:The-Java-runtime(16 chars inc white space)
Words after truncation: 3

Completed line:The-Java-runtime

NEW LENGTH of line:16

Your line getting bigger:provides(8 chars inc white space)

Words after truncation: 1

Your line getting bigger:provides-dynamic(16 chars inc white space)
Words after truncation: 2

Completed line:provides-dynamic

NEW LENGTH of line:16

Your line getting bigger:capabilities(12 chars inc white space)
Words after truncation: 1

Your line getting bigger:capabilities-(such(18 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):capabilities

Length rolled back line: 12

This word getting truncated:(such

The current buffer is: 4

Number words to accomodate for: 1(capabilities)

Last word in tokenizer should be same as truncated word: (such
What is wordcount here: 100

What is truncated word count: 1(capabilities) 12 chars

Value of temp:(such

capabilities =>qualifies for 4 padding at end since it has:1 words
CURRENT LENGTH of line: 12

NEW LENGTH of line after formatting: 16

Completed line:capabilities--

This word will be carried over to next line:(such

Your line getting bigger:(such-as(8 chars inc white space)

Words after truncation: 2

Your line getting bigger:(such-as-reflection(19 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):(such-as

Length rolled back line: 8

This word getting truncated:reflection

The current buffer is: 8

Number words to accomodate for: 2((such-as)

Last word in tokenizer should be same as truncated word: reflection
What is wordcount here: 102

What is truncated word count: 2((such-as) 8 chars

Value of temp:reflection

CURRENT LENGTH of line: 8

Qualified for extra padding

8 extra padding between:(such-as

It will now process truncated string with extra 8 padding between the words:(such-as
Your line getting bigger:(such(5 chars inc white space)

Your line getting bigger:(such:------ as(16 chars inc white space)



NEW LENGTH of line after formatting: 16
Completed line:(such:----- as
This word will be carried over to next line:reflection

Your line getting bigger:reflection-and(14 chars inc white space)
Words after truncation: 2

Your line getting bigger:reflection-and-runtime(22 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):reflection-and

Length rolled back line: 14

This word getting truncated:runtime

The current buffer is: 2

Number words to accomodate for: 2(reflection-and)

Last word in tokenizer should be same as truncated word: runtime
What is wordcount here: 104

What is truncated word count: 2(reflection-and) 14 chars

Value of temp:runtime

CURRENT LENGTH of line: 14

Qualified for extra padding

2 extra padding between:reflection-and

It will now process truncated string with extra 2 padding between the words:reflection-and
Your line getting bigger:reflection(10 chars inc white space)

Your line getting bigger:reflection---and(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:reflection-:-and

This word will be carried over to next line:runtime

Your line getting bigger:runtime-code(12 chars inc white space)

Words after truncation: 2

Your line getting bigger:runtime-code-modification)(26 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):runtime:-code

Length rolled back line: 12

This word getting truncated:modification)

The current buffer is: 4

Number words to accomodate for: 2(runtime:-code)

Last word in tokenizer should be same as truncated word: modification)
What is wordcount here: 106

What is truncated word count: 2(runtime-code) 12 chars

Value of temp:modification)

CURRENT LENGTH of line: 12

Qualified for extra padding

4 extra padding between:runtime-code

It will now process truncated string with extra 4 padding between the words:runtime-code
Your line getting bigger:runtime(7 chars inc white space)

Your line getting bigger:runtime-----code(16 chars inc white space)

NEW LENGTH of line after formatting: 16

Completed line:runtime:-----code

This word will be carried over to next line:modification)

Your line getting bigger:modification)-that(18 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):modification)

Length rolled back line: 13

This word getting truncated:that

The current buffer is: 3

Number words to accomodate for: 1(modification))



Last word in tokenizer should be same as truncated word: that
What is wordcount here: 107

What is truncated word count: 1(modification)) 13 chars

Value of temp:that

modification) =>qualifies for 3 padding at end since it has:1 words
CURRENT LENGTH of line: 13

NEW LENGTH of line after formatting: 16

Completed line:modification)---

This word will be carried over to next line:that

Your line getting bigger:that-are(8 chars inc white space)

Words after truncation: 2

Your line getting bigger:that-are-typically(18 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):that-are

Length rolled back line: 8

This word getting truncated:typically

The current buffer is: 8

Number words to accomodate for: 2(that-are)

Last word in tokenizer should be same as truncated word: typically
What is wordcount here: 109

What is truncated word count: 2(that-are) 8 chars

Value of temp:typically

CURRENT LENGTH of line: 8

Qualified for extra padding

8 extra padding between:that-are

It will now process truncated string with extra 8 padding between the words:that-are
Your line getting bigger:that(4 chars inc white space)

Your line getting bigger:that:---- are(16 chars inc white space)
NEW LENGTH of line after formatting: 16
Completed line:that:+---- are

This word will be carried over to next line:typically

Your line getting bigger:typically-not(13 chars inc white space)
Words after truncation: 2

Your line getting bigger:typically-not-available(23 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):typically-not

Length rolled back line: 13

This word getting truncated:available

The current buffer is: 3

Number words to accomodate for: 2(typically-not)

Last word in tokenizer should be same as truncated word: available
What is wordcount here: 111

What is truncated word count: 2(typically-not) 13 chars

Value of temp:available

CURRENT LENGTH of line: 13

Qualified for extra padding

3 extra padding between:typically-not

It will now process truncated string with extra 3 padding between the words:typically-not
Your line getting bigger:typically(9 chars inc white space)

Your line getting bigger:typically----not(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:typically:---not

This word will be carried over to next line:available

Your line getting bigger:available-in(12 chars inc white space)



Words after truncation: 2

Your line getting bigger:available-in-traditional(24 chars inc white space)
Words after truncation: 3

Rolled back to(due to exceeding 16):available-in

Length rolled back line: 12

This word getting truncated:traditional

The current buffer is: 4

Number words to accomodate for: 2(available-in)

Last word in tokenizer should be same as truncated word: traditional
What is wordcount here: 113

What is truncated word count: 2(available:in) 12 chars

Value of temp:traditional

CURRENT LENGTH of line: 12

Qualified for extra padding

4 extra padding between:available-in

It will now process truncated string with extra 4 padding between the words:available-in
Your line getting bigger:available(9 chars inc white space)

Your line getting bigger:available:-:--in(16 chars inc white space)
NEW LENGTH of line after formatting: 16

Completed line:available:--in

This word will be carried over to next line:traditional

Your line getting bigger:traditional-compiled(20 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):traditional

Length rolled back line: 11

This word getting truncated:compiled

The current buffer is: 5

Number words to accomodate for: 1(traditional)

Last word in tokenizer should be same as truncated word: compiled
What is wordcount here: 114

What is truncated word count: 1(traditional) 11 chars

Value of temp:compiled

traditional =>qualifies for 5 padding at end since it has:1 words
CURRENT LENGTH of line: 11

NEW LENGTH of line after formatting: 16

Completed line:traditional--

This word will be carried over to next line:compiled

Your line getting bigger:compiled-languages.(19 chars inc white space)
Words after truncation: 2

Rolled back to(due to exceeding 16):compiled

Length rolled back line: 8

This word getting truncated:languages.

The current buffer is: 8

Number words to accomodate for: 1(compiled)

Last word in tokenizer should be same as truncated word: languages.
What is wordcount here: 115

What is truncated word count: 1(compiled) 8 chars

Value of temp:languages.

compiled =>qualifies for 8 padding at end since it has:1 words
CURRENT LENGTH of line: 8

NEW LENGTH of line after formatting: 16

Completed line:compiled:+-+--

This word will be carried over to next line:languages.

Last token processed:languages.



*EkERXEECurrently in last line:
3k 3k 3k 3k 3k 3k 3k 3k sk ok sk ok 3k 3k 3k sk sk sk ok ok ok ok ok %k sk k sk

Finally completing the last line:languages.

Left over Stringloiner: 1 word(s)=> languages. (10 chars inc white space)
Total running words: 115

Bufferis: 6

Entering here most likely due to having one word in the line

So the StringBuilder should be empty:

languages. =>qualifies for 6 padding at end since it has:1 word(s)
completed line:languages.:---

NEW LENGTH of line:16

*¥*XATHIS WILL PRINT ENTIRE TEXT ¥k # kokskskk %k

KEY: 16 line limit

-=Inter-word padding as per requirements

*=existing frontal padding

In future, can provision for existing inter-word padding for instance multiple whitespaces..
BUT expect user to have single whitespace for the justification to look tidy

....... Java-is-a
high-level, -
class-based,:::-
object-oriented-
programming:----
language-that-is
designed-to-have

implementation--
dependencies:-as
-possible.-It-is

general-purpose-
programming:----
language:------
-intended-to-let
programmers:----
-write-once,-run
anywhere-------
(WORA),[16]---
meaning:-----that
compiled----Java
-code-can-run-on
all----platforms
that-----support



Java-without-the

applications-are
typically .......
compiled:-----to
bytecode::--that
--can-run-on-any
Java-----virtual
machine:---(JVM)
regardless:---of
the---underlying
computer:-----
architecture.--
--The-syntax-of
-Java-is-similar
to:-C--and--C++,
---but-has-fewer
low-level------
facilities--than
-either-of-them.
The-Java-runtime
provides-dynamic
capabilities:--

reflection---and
runtime:-----code
modification)--:
that ......... are
typically----not
available:----in
traditional----
compiled------
languages.----

3k 3k 3k 3k 3k >k 3k 3k 3k 3k 3k 3k %k %k >k 3k >k 3k 3k 3k %k %k %k %k %k %k %k %k *k



TEST SCENARIO 12 (NEW CODE) - using wider k=65
limit...

***ATHIS WILL PRINT ENTIRE TEXT * % sk xx %
KEY: 65 line limit

-=Inter-word padding as per requirements
*=existing frontal padding

In future, can provision for existing inter-word
padding for instance multiple whitespaces..

BUT expect user to have single whitespace for the
justification to look tidy

Screenshot shows its got correct formatting..

---Java-is-a-high-level, -class-based, -object-oriented-programming
language-that-is-designed-to-have-as-few-implementation

- - - -dependencies-as-possible. -It-is-a-general-purpose-programming
- - - -language-intended-to- let - programmers-write-once, -run-anywhere
(WORA),[16] -meaning-that-compiled-Java-code-can-run-on-all

- - -platforms-that - support-Java-without-the-need-to-recompile.[17]
Java-applications-are-typically-compiled-to-bytecode-that-can-run
---on-any-Java-virtual-machine- (JVM)-regardless-of-the-underlying
- - - -computer-architecture. -The-syntax-of-Java-is-similar-to-C-and
-C++, -but-has - fewer-low-level -facilities-than-either-of-them. -The

- - -Java-runtime-provides-dynamic-capabilities- (such-as-reflection

- -and-runtime-code-modification)-that-are-typically-not-available

in-traditional-compiled-languages.

RERRRERERERRERERRRR R R R R R Rk

As expected with other font, it can not keep
proportion but it can be seen characters are same
each line.

---Java-is-a-high-level,-class-based,-object-oriented-programming
---------- language-that-is-designed-to-have-as-few-implementation
---:dependencies-as-possible.-lt-is-a-general-purpose-programming
---:language-intended-to-let-programmers-write-once,-run-anywhere



------- (WORA),[16]-meaning-that-compiled-Java-code-can-run-on-all
---platforms-that-support-Java-without-the-need-to-recompile.[17]
Java-applications-are-typically-compiled-to-bytecode-that-can-run
---on-any-Java-virtual-machine-(JVM)-regardless-of-the-underlying
-...computer-architecture.-The-syntax-of-Java-is-similar-to-C-and
-C++,-but-has-fewer:-low-level-facilities-than-either-of-them.-The
---Java-runtime:-provides-dynamic-capabilities-(such-as-reflection
--and-runtime-code-modification)-that-are-typically-not-available

|n.trad|t|ona|.Comp”ed.languages ...............................
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